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QUESTION 1

What is the implicitly created column in a base table which contains an XML column called?
A. Node ID

B. ROWID

C.LOCATOR

D. DOCID

Correct Answer: B

QUESTION 2

Userl creates table userl.customers in a partitioned-by-growth (PBG) table space DB1.TS1

Which of the following operations CANNOT be performed by userl with implicit owner privileges on the table?
A. Run the LOAD utility to load data

B. Create a VIEW on the customers table

C. Run the REORG uitility to reorganize the data

D. Issue an SQL LOCK TABLE statement against the customers table

Correct Answer: B

QUESTION 3

Which of the following can activate a trigger?
A. A row is inserted

B. A table or view is created

C. A check constraint is defined

D. A referential constraint is violated

Correct Answer: D

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK _11.0.0/intro/src/tpc/ db2z_triggers.html

QUESTION 4

Which types of user-defined data types are supported? (Choose two.)
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A. CHAR

B. ARRAY

C. NUMERIC

D. DISTINCT

E. TIMESTAMP
Correct Answer: BD

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/
db2z_userdefineddatatypes.html

QUESTION 5

Which of the following actions can you take in order to prevent users from obtaining implicit privileges as a result of
object ownership?

A. Create the object in a trusted context that is defined with the ROLE AS OBJECT OWNER AND QUALIFIER clause
B. Create the object after activating the SEPARATE_SECURITY=YES DSNZPARM

C. Let somebody with SYSCTRL authority create the object

D. Create the object after activating an audit policy that will apply to the table that you are about to create

Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/seca/src/tpc/
db2z_objectownertrusted.html

QUESTION 6

Assuming column hire date is a DATE data type, which SQL statement will retrieve the maximum salary (salary) and
minimum salary(salary) for each job(job) from EMPLOYEE table for those hired(hiredate) before 1965?
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A. SELECT job, MAX(salary)
FROM employee
WHERE hiredate < 19&5-1-1
GROUP BY job
UNIOM
SELECT job, MIN(salary)
FROM employee
WHERE hiredate < 1965-1-1
GROUP BY job;

B. SELECT job, MAX(salary), MIN(salary)
FROM employee
WHERE hiredate < 1965-1-1
GROUP BY job;

SELECT job, MAX(salary), MIN(salary)
FROM employee

WHERE hiredate < ‘1565-1-1'

GROUP BY job;

SELECT job, MAX(szlary), MIN(salary)
FROM employee

WHERE hiredate < '1965-1-1°

ORDER BY ij;

A.B.C.D.

Correct Answer: D

QUESTION 7

An array value CANNOT be specified using which of the following methods?

A. Invocation of an INSERT statement

B. Invocation of the ARRAY_AGG function

C. Invocation of the ARRAY_DELETE or TRIM_ARRAY built-in functions

D. A simple reference to an SQL variable, or SQL parameter that is a user-defined array type
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/sqlref/src/tpc/ db2z_arrayvalues.html
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QUESTION 8

When you add an XML column to a table by using an ALTER TABLE statement, which of the following are TRUE?
(Choose two.)

A. DB2 implicitly creates an XML table space

B. DB2 implicitly creates an AUX table to store the XML data

C. If this is the first XML column you created for the table, DB2 implicitly creates a unique index on the XML column
D. If this is the first XML column you created for the table, DB2 implicitly creates a ROWID column on the base table

E. If this is the first XML column you created for the table, DB2 implicitly creates a BIGINT node ID column on the base
table

Correct Answer: AE

QUESTION 9

Which of the following table space types does NOT support the use of REORG TABLESPACE SHRLEVEL (NONE)?
A.LOB

B. Simple

C. Partition-by-range

D. Partition-by-growth

Correct Answer: C

QUESTION 10

Which of the following describes OLTP workload rather than an analytics workload?
A. Extreme data volume

B. Temporary or intermediate staging of data

C. Set-oriented processing and bulk operations

D. A large number of short, discrete, atomic transactions

Correct Answer: D

Reference: http://www.ibmbigdatahub.com/sites/default/files/document/IBM-Netezza-Understanding-Analytic-Workloads-
eBook.pdf
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QUESTION 11

COL1 is defined as CHAR(05) and contains CHAR("12345\\"). Which of the following expressions returns the digits
12345 for further calculation?

A. HEX(COL1)

B. DEC(COL1)
C. PACK(COL1)
D. DIGITS(COL1)

Correct Answer: B

QUESTION 12

Which of the following is NOT a valid trigger?
A. MERGE

B. INSERT

C. UPDATE

D. DELETE

Correct Answer: A

Reference: https://www.splessons.com/lesson/db2-trigger/

QUESTION 13

A clone table can only be created in which of the following?
A. A simple table space

B. A universal table space

C. An auxiliary table space

D. A classic segmented table space

Correct Answer: B

Reference: https://community.toadworld.com/platforms/ibomdb2/w/wiki/6841.clone-tables

QUESTION 14

A stored procedure needs to issue a dynamic SQL statement (SELECT) at runtime. The stored procedure\\'s owner 1D
must be used for the authorization check (whether or not the SELECT is allowed).
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Which BIND parameter setting can you use to accomplish this?
A. DYNAMICRULES(RUN)

B. DYNAMICRULES(BIND)

C. DYNAMICRULES(INVOKERUN)

D. DYNAMICRULES(DEFINEBIND)

Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_10.0.0/sqlref/src/tpc/
db2z_sql_createproceduresqlnative.html

QUESTION 15
Which isolation level is described by the following?

The ISOLATION(..) option allows maximum concurrency with data integrity. Under the ISOLATION(..) option, a
transaction holds locks only on its uncommitted changes and on the current row of each of its cursors.

A.CS
B. UR
C.RR
D.RS
Correct Answer: A

Reference: https://www.ibm.com/support/knowledgecenter/en/SSEPEK_11.0.0/perf/src/tpc/ db2z_isocs.html
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